KTPS>x2T [BFFTILK]

L: 1] B A RP =Rt | B | ABE | TEM | &F

1| FEE E—8 | (BIRT&AT) 320 128 128 64 32 352

20|58 & (LoLHAT) 320 128 128 64 320

NIF B (LoWLHAT) 288 32 128 128 288

4|HE AE (FT=RI8—%) 256 0 128 128 256

5| RZE BF (OAETC) 224 64 96 64 64 288

6|3LfE SR (OASHTC) 224 64 96 8 64 232

7= H (FRTC) 224 96 32 96 224

1AL B (OASHETC) 224 64 64 96 224

9| KM 1Eth (FT=R/8—%) 192 96 0 64 32 192

10|=F & (F=R/8—%) 128 32 64 32 32 160
11|{Hikx ZEH (T=RIN—%) 96 32 32 32 0 96
11FFH —/ (U\,:KETC) 96 0 64 32 96
118 EZzN |[(BIHIT=RBE= 96 96 96
11[{ZE BN (R T=RHB= 96 32 64 96
11|IWWHE #m  |BIT=XHE 96 96 96
16/db#F &n— (OASHTC) 72 64 8 72
17|8%K —% (DAKTC) 64 64 0 64
17|—F X (CoWL\HAT) 64 32 32 0 64
17|k R (T=R/8—%) 64 32 32 0 64
17|EZE BN [(XRT=XHE 64 64 64
21|md M [(F=R/—4HJdr)| 50 0 10 8 32 50
2=t ME BFET=RAHH 40 32 8 40
2| t58 B (LoWHAT) 40 8 32 40
22|FEHE i (FRTC) 40 0 32 8 0 40
22|5hH KE# (CLoWWHAT) 40 0 0 8 32 40
26|17k R (T=RIN—%) 32 32 32
26|REIE FI=E (T=RIN—%) 32 32 32
26//NME GBI [(T=R/N—%HJr)| 32 32 0 0 32
26|FE% A (TZR/N=HJn)| 32 32 32
26 %%ﬂ BABBFRET-—XHE 32 32 32
Y EICEE 0 (FRTC) 32 0 0 32 32
26|18k E (T=ZR/N—=HJn)| 32 0 32 32
26| &#E EKX BIRESE) 32 0 32 32
26|)Il3m FBE{= (F=R/\—%) 32 32 32
26| &)1 FEE (LoLHAT) 32 32 32
26|50 KZ (7)—) 32 32 32
37|/NEF L (FRTC) 24 16 8 24
JNfEAKRK B—| EE353=-) 24 16 8 0 24
37|EH BEE (LoWHAT) 24 16 8 24
372 ER  |[(JLA4Liavy)| 24 16 8 0 0 24
M |TER R (FRTC) 16 0 16 0 16
MEH AE (Z1—) 16 16 16
BiEE Bt | (T=R/\—2) 14 10 4 14
4\£F BB (CvWL\HAT) 12 8 4 0 12
4138 Fth (FRTC) 12 8 4 0 12
44| L5 EXRBA| (BIRRAIIR) 12 4 8 0 12
47\ K)Il 5n4 (BIF%:IrE) 10 10 0 10
47|51 Bt (BT 10 10 0 10
47|50 BEE (T=R/8—%) 10 10 10
47/t B’ (DAETC) 10 0 10 10
51|84 & (CLeWWHAT) 8 8 8
51[FE)Il #1E (#IBE A 8 8 8
51|k KEf (LoLHAT) 8 8 0 0 8
S51|HE %= |[(OLA4L avy) 8 8 0 8
51|&5E Z#t (LoLHAT) 8 8 8
51|.E# ZFRE (E5=—) 8 4 4 0 8




KTPS>x2T [BFFTILK]

GL: L] B A RP =R | =W | KBS | TEM | BFt
51|A%F 1ESE (E5=—) 8 4 4 0 8
51|A T (XEFF) 8 0 8 8
51/ #EX (LoLHAT) 8 0 8 8
51|51 8 (LoLHAT) 8 0 0 8 8
51|55 i (F=R/I\—%) 8 0 0 8 8
51|B &R FO43 (SR AL K) 8 0 8 8
51|Fi#E = €[NP 9) 8 0 8 8
A= 3 (FRTC) 8 0 8 0 8
51|4#HE {8l (CoWWHAT) 8 8 8
51/BH & (FRTC) 8 8 8
67|18 —R (BB &% P 4 4 4
67|85lF EX (21)—) 4 4 4
67|%M & (2'1)—) 4 4 4
67| L%k I (21)—) 4 4 4
67|3RHE EA (BB &% P 4 4 4
67iEAKR HE BFET=AHY 4 4 4
67| 2H HE (2')—) 4 4 4
67(/NE B— (T=R/\—7%) 4 4 4
67|pH 1&F (2'1)—) 4 4 4
67|FF BEE (SR AL K) 4 4 4
77\&H BE [(DLA4LavY) 2 0 2 0 2
TiER K ZR|(OLALIayy) 2 2 2




